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In general;

1) Sine Curve

domain : all real x y = asin(bx +c)
range:-1<y<1

period

period = %Z units | divisions =

amplitude =a units | shift= © to left
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2) Cosine Curve y = acos(bx+c)

period

period = %Z units | divisions =

amplitude =a units | shift= © to left

X
e.g. y:_4C03(8+”j+2 periodzzTﬂ divisions = 47
8 shift =87 to left, 2 up,
VoA =167 ypside down
amplitude =4
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3) Tangent Curve | y=atan(bx+c)| |divisions = period

period =~ units shift:%to left
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ed. y=etan(mx—27)  period= divisions %

shift = 2 to right
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y = etan(zx —2r)

> Exercise 14C: 2b, 3b,
1 2 X1 4b 5bce. 8 9. 10b, 13,
15, 16, 17, 20




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4

